urbanwoodcraft

—_—

Bolt M8 x 2.7 in
<> < -

|
|
Bolt M8 x 1.5in |

>

ASSEMBLY INSTRUCTIONS

70" VILLA DINING TABLE

Toll Free: 1855 738 1378

Email: info@urbanwoodcraft.com

T\ Bolt M8 x 2.7 in : 8 Pcs

Bolt M8 x 1.5in: 8 Pcs \




urbanwoodcraft

6.6 57.4 66

Al

35.4

TOP VIEW / VUE DE DESSUS / VISTA SUPERIOR

‘ 71 ‘ ‘ 354
} 66 57.4 66 }
[ | | | 21 5 I | 32
|
”1%* J 11
The T
2 2 21
richamfer 4mm r [ chamfer 4mm
|43 60 |43 a3 | 244 | 4]
FRONT VIEW / VUE DE FACE / VISTA FRONTAL SIDE VIEW / VUE DE COTE / VISTA LATERAL
ITEM NUMBER UNITS VERSION DATE
Toll Free: 1 855 738 1378 500.70DT.VLN nches | 00 |13.05.2015
Email: info@urbanwoodcraft.com | % "7 Y354 "4 S






